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Question 1

A) 2430587
B) 2340587
v’ C) 3240587

D) 3420587

Question Type:

Muiltiple Choice

Randomize Answers: No
Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,505
Question 2
1 2 Fi
In — = 4§ == = r W o—
12 12 12 12
b ?
A) 9
v B) 10
C) 29

Primary 5 Maths » Primary 5 Maths (Term 4)

Which one of the following numbers has the digit 2 in the hundred thousands place?

Primary 5 Maths » Primary 5 Maths (Term 4)

, what iz the missing number in the
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D) 30
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,506
Question 3 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Part of a scale is shown below. What is the value of the reading at R?

5.4 55 1 5.5
R —
A) 5.503
B) 5.506
C) 5.53
v' D) 556

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 28th Jul 2021

Last Modified: N/A

QID#: 28,543,507

Question 4 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Georginia had ondy the following 7 coins in her pouch.

@@ @)

She took 4 coins from her pouch and dropped them inte a donation
tin. Which one of the following could not be her total donation?

A) $0.70
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B) $1.75

C) $2.10

v' D) $2.65

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 5

A)
[
a0

B)
B
20

v C
'3
Ee 4]

D
'3
5

Question Type:
Date Added:

Last Modified:
QID#:

Question 6

Randomize Answers:

Multiple Choice
No

Wed 28th Jul 2021
N/A

28,543,508

Which one of the following has the same value as 6%?

Multiple Choice
No

Wed 28th Jul 2021
N/A

28,543,509

ClassMarker - Manage Test
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Uza tha tabis balow to answer questions T and B.

The table shows the number of si-ups a group of boys did during a
fitnezs f2st. Osman’s record had been left out.

Mamo Number of sit-ups |
Muthu 23
Hasari 19
Crsman T
Pang Wei 24
Qsah 13
i .
The five boys did an average of 22 si#-ups. How many sit-ups did
Osman do?
A) 110
B) 81
v C) 29
D) 7
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,510
Question 7 Primary 5 Maths » Primary 5 Maths (Term 4)

The sides of a triangle are in the ratio of 3:2:5. The longest side is 90cm. What is the length of the
shortest side?

A) 18cm
v' B) 36cm
C) 45cm
D) 225cm
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,511
Question 8 Primary 5 Maths » Primary 5 Maths (Term 4)

Who did 6 fewer sit ups than Naszri?
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v' A) Quah
B) Muthu
C) Osmari
D) Peng Wei

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 9

Muiltiple Choice
No

Wed 28th Jul 2021
N/A

28,543,512

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 10

A F
E
B c o

A) Triangle ABC and Triangle EFG
B) Triangle AEF and Triangle CAG
C) Triangle CAB and Triangle AGF

¥’ D) Triangle CAF and Triangle CDF

Multiple Choice
No

Wed 28th Jul 2021
N/A

28,543,513

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 4)

The figure below shows a rectangle ABDF. Yhich one of the following
pairs of irianglas has the same height?

Primary 5 Maths » Primary 5 Maths (Term 4)
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A)
v B)
C)
D)
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158
281

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 11

Statement:
Azalea had no money left after spending $71 on some plates and bowls

A) True

B) False

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 12

Statement:
Azalea bought 15 plates and bowls altogether

A) True

v’ B) FALSE

The Niguee Bedow shows a parallsiogram SVUT. TSR i a straight line.
Find £WSR,

Multiple Choice
No

Wed 28th Jul 2021
N/A

28,543,514

¥ C) Not possible to tell

Multiple Choice
No

Wed 28th Jul 2021
N/A

28,543,515

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 4)

Azalea had some money at first. She spent $71 on some plates and bowls. A plate cost $7 and a bow!
cost $2. She bought 5 more plates than bowls.

Primary 5 Maths » Primary 5 Maths (Term 4)
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C) Not possible to tell

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 28th Jul 2021

Last Modified: N/A

QID#: 28,643,516
Question 13 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

3 -
Irfantu:ﬂmula of his money from his wallet.

1
He used m1'fEﬂf'lﬂ'|Ed1MiE taken out from his wallet to buy a
windbreaker. YWhat fraction of the money takanunﬂmnrﬂshlalald[d
Irfan use to buy the windbreaker?

B)

D)

25
48

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 28th Jul 2021
Last Modified: N/A

QID#: 28,643,517

Question 14 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

https://www.classmarker.com/a/tests/test/?test_id=1788718&trk=edittest_inrow_edit 7135


https://www.classmarker.com/a/tests/qb/manage/?test_id=1788718&question_id=28543516
https://www.classmarker.com/a/tests/qb/manage/?test_id=1788718&question_id=28543516&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1788718
https://0cm.classmarker.com/6226088_7MP9DK2S.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1788718&question_id=28543517
https://www.classmarker.com/a/tests/qb/manage/?test_id=1788718&question_id=28543517&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1788718

9/20/21, 10:42 PM

workers are nol mamsady

A) 202

B) 106

C) 77

v' D) 48

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,518

Question 15

ClassMarker - Manage Test

The table below shows the ticket prices to a puppet show.
Mrs Lek and Mrs Ding took 8 children to the puppet show.,
How much less did the 2 adults pay for their tickels than for the

In Happyworkz Factory, there are 308 workers, 25% of them are
Singaporeans, Among the Singaporean workers, 29 of them are
marned. The rest are pot married. How many of the Singaporean

Primary 5 Maths » Primary 5 Maths (Term 4)

8 children's tickets?
Type of ticket Price per ticket
Per child $20
Per adult $az
A) $44
B) $72
v C) $96
D) $224
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,519
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Question 16 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

1
Mrs Thiresh prepared 1 [ of orange juice. She spiled o i of the
ofange juce. She poured 3 of the ramaining orange juica into a flask

- sonnse S - o :
containing 5 [ of the same juice. How much orange juice was there in

the fizsk in the gnd?
A)
1
15
10
B)
1
1 i) !
ve oo
2
151
D)
12 ¢
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,520
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Rhys went to the market to buy onions and pravwms.
The prices are shown in the table balow,

100 g of onions for $0.15 100 g of prawns for $4.10

Rhys bought 0.4 kg of onions. The mass of prawns that she bought
was 300 g more than that of the onions. She paid the cashier $50.

How much change did she receiva?
A) $12.90
v B) $20.70

C) $29.30
D) $37.10

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Wed 28th Jul 2021

Last Modified: N/A

QID#: 28,543,521
Question 18 Primary 5 Maths » Primary 5 Maths (Term 4) 0 pts
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The solid figure below is made up of identical cubes. Diraw the top view of
the solid figure in the square grid provided.,

lop view

l

- —— gjde view

T

=
o

f

frent view

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,525

Correctly answered feedback

Incorrectly answered feedback
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Question 19 Primary 5 Maths » Primary 5 Maths (Term 4) 0 pts
The gragh below shows the number of led messages Delphi meehved on
haf mobile phone per month from Mey 1o July. The number of fest
messages she recalved In August was equal to the average nimber of Bext
mesaapen ehe reealued fram May o July. Draw the bar for August in the
graph uc
30 - T
|
i
i
Mumbar of
bt X0
meSsanes
reEhiad
120 -
|:| -

Ky duno dJuly August

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,526

Correctly answered feedback
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Incorrectly answered feedback

Primary 5 Maths » Primary 5 Maths (Term 4) 0 pts

Question 20

The square grid below shows two sides of a trapezium, AD and DC. Complate the
trapeziuym ABCD where AD W BC and BC = 3 unila Labsl the frapezium ASCE,

1 uni
i e
A HE [ [
[ ] | i
T =
O G

Please type "done™ to proceed to the next question
13/35
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Question Type: Essay

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,527

Correctly answered feedback
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¥i Meen has 11 files and Shi Ni has 9 fiies. How many files wil Yi Meen

. A T
have to give Shi Ni so that Shi Ni has i of the tolal number of files?

Accepted answers:
v 5files

v 5

Question Type: Free Text

Date Added: Wed 28th Jul 2021

Last Modified: N/A

QID#: 28,543,528

Question 22 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

In the figure below, both AB and CD are straight lines. 2~ p= £q.
Find £p.

Accepted answers:

v 26

Question Type: Free Text

Date Added: Wed 28th Jul 2021

Last Modified: N/A

QID#: 28,543,529

Question 23 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

https://www.classmarker.com/a/tests/test/?test_id=1788718&trk=edittest_inrow_edit 15/35


https://0cm.classmarker.com/6226088_RWDBO59C.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1788718&question_id=28543528
https://www.classmarker.com/a/tests/qb/manage/?test_id=1788718&question_id=28543528&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1788718
https://0cm.classmarker.com/6226088_16CZIMKE.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1788718&question_id=28543529
https://www.classmarker.com/a/tests/qb/manage/?test_id=1788718&question_id=28543529&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1788718

9/20/21, 10:42 PM ClassMarker - Manage Test

Mrs Seetoh bought some tins of cookies. There were 36 cookies in each tin. Mrs Seetoh divided all the
cookies equally into 12 boxes. She gave 3 such boxes to her pupils and 70 cookies to her colleagues.
In the end, she had 65 cookies left. How many tins of cookies did Mrs Seetoh buy?

Accepted answers:

v 5

Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,530

Correctly answered feedback

65+70=135
12-3=9
135+9=15
15x12=180
180+26=5

Incorrectly answered feedback

65+70=135
12-3=9
135+9=15
15x12=180
180+26=5

Question 24 Primary 5 Maths » Primary 5 Maths (Term 4)

The figure below shows a reclangle H.JKL and a trapezium EFGH.
Find £EHL.

Accepted answers:

v 77

https://www.classmarker.com/a/tests/test/?test_id=1788718&trk=edittest_inrow_edit
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Question Type: Free Text

Date Added: Wed 28th Jul 2021

Last Modified: N/A

QID#: 28,543,531
Question 25 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

3
A cubijcal containar of adge 20 em was E Tilled with waler.

How much mare water was needed fo fill the cubical container to its bdm?

Accepted answers:
v’ 3200ml
v’ 3200 ml

v’ 3200

Question Type: Free Text

Date Added: Wed 28th Jul 2021

Last Modified: N/A

QID#: 28,543,532
Question 26 Primary 5 Maths » Primary 5 Maths (Term 4) 2pts

Fepoy and her three sisters shared the cost of a gift for their mother equally.
Peggy made a mistake and divided the cost of the gift by 3 instead. Each of
them ended up paying $8.90 more than har share. What shopdd be the
echaal cost of the gift?

Accepted answers:
v $106.80

v 106.8

Question Type: Free Text

Date Added: Wed 28th Jul 2021

Last Modified: N/A

QID#: 28,543,533
Question 27 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts
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v’ 4.5kg
v 45kg

v 45

Question Type:
Date Added:
Last Modified:
QID#:

3.3x2=6.6
30x3.3=99
6.6x10=66

3.3x2=6.6
30x3.3=99
6.6x10=66

Accepted answers:

Free Text

Wed 28th Jul 2021
N/A

28,543,534

Correctly answered feedback

169.5-66-99=4.5

Incorrectly answered feedback

169.5-66-99=4.5

Question 28

ClassMarker - Manage Test

The total mass of a box with 30 identical cones and 10 identical rubber rings is 169.5kg. Each cone has
a mass of 3.3kg. The mass of each rubber ring is the same as the total mass of 2 such cones. What is
the mass of the empty box?

Primary 5 Maths » Primary 5 Maths (Term 4)

The table below shows the charges for surfing the internet in Wondersus Cyber

Café.
Dusaticn Chafges
19 howr .00
Subsequent heif an kour or part thereof 380

¥’ 3 hours
V'3

Question Type:
Date Added:
Last Modified:
QID#:

https://www.classmarker.com/a/tests/test/?test_id=1788718&trk=edittest_inrow_edit

Accepted answers:

Free Text

Wed 28th Jul 2021
N/A

28,543,535

Wiknesh paid 322 for surfing the imtemet in the café, Whal was the greatest
numbsar of hours he spant surfing the internst?

2 pts
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Correctly answered feedback

1** hour — $22 —$8 = $14
2™ hour — $14 = ($3.50 x 2)
=$14 + %7
= 2 hours
2 hours + 1 hours = 3 hours

Incorrectly answered feedback

1** hour — $2Z —3$8 =514
2™ hour — $14 = ($3.50 x 2)
=314 - %7
= 2 hours
2 hours + 1 hours = 3 hours

Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Question 29

A dress cost $140. During 2 sale, the shop owner gave a discount of 30% on the
dress. Mei Mel bought a few of such dresses and saved a total of $168. How

many dresses did she buy?

Accepted answers:
v’ 4 dresses

Vo4

Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,536

Correctly answered feedback
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30

R 140 = 42
168 -+ 42 =4
Ans: 4 dresses

Incorrectly answered feedback

I0

peres % 140 = 42
168 +42 =4
Ans: 4 dresses

Question 30 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

The figure below is made up of squares of the same sire. How many mone
squares must be shaded so that 84% of the figure ks unshaded?

Accepted answers:

v 2

Question Type: Free Text

Date Added: Wed 28th Jul 2021

Last Modified: N/A

QID#: 28,543,537

Question 31 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts
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ClassMarker - Manage Test

Keegan used identical cubes of adge 1 em fo form the solid figure, as shown
befow. Then he added some mane cubes to the solid figure and rearanged all the
cubes o fofmy another bigger cube. What was the least number of cubes that he

addad 1 form the bigger cube?

A

¥ 11 cubes

v 11

Question Type:
Date Added:
Last Modified:
QID#:

Accepted answers:

Free Text

Wed 28th Jul 2021
N/A

28,543,538

Correctly answered feedback

23 =2x2x2=8
3¥=3x3x3=27
27-16 =11
Ans: 11 cubes

Incorrectly answered feedback

23 =2x2x2=8
3P =3x3x3=27
27-16 =11

Ans: 11 cubes

https://www.classmarker.com/a/tests/test/?test_id=1788718&trk=edittest_inrow_edit
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Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Question 32

The figure below shows En aquilateral nange BOD and bwo isoscelas |rierglaa
DEF and DEF. ABFG |z a siraight lihe. Find ~ EFG.

D

Accepted answers:

v 305

Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,539

Correctly answered feedback

180 - 41 =139

139+ 2 =69.5
180 — 60 — 40 = 80
180 - 80-69.5 = 30.5
Ans: 30.5°

Incorrectly answered feedback

180 - 41 =139

139 - 2 = 69,5
180 — 60 — 40 = 80
180 - 80-69.5 = 30.5
Ans: 30.5°
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Question 33 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

1
Bir Zid danated - of hls maney o a8 children's home, He donated 3600 B 1o an

old folks’ home than to the children’s home, He had 39600 left. How much money
did Mr Zid donate to the chaldrzn’s homse and the old folks’ home aliogether?

Accepted answers:
v’ $3,000

v’ 3000

Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,540

Correctly answered feedback

9600 — 600 = 9000
9000 + 5 = 1800
1800 — 600 = 1200

~1800 + 1200 = 3000
Ans: $3000

Incorrectly answered feedback

9600 — 600 = 9000

9000 + 5 = 1800

1800 — 600 = 1200
~1800 + 1200 = 3000

Ans: $3000

Question 34 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts
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v’ 900 chairs

v’ 900

Question Type:
Date Added:
Last Modified:
QID#:

v Oct-27

Question Type:
Date Added:
Last Modified:
QID#:

A school hall has chairs of three different colours.

ClassMarker - Manage Test

4
a

Accepted answers:

Free Text

Wed 28th Jul 2021
N/A

28,543,541

Question 35

Accepted answers:

Free Text

Wed 28th Jul 2021
N/A

28,543,542

Correctly answered feedback

https://www.classmarker.com/a/tests/test/?test_id=1788718&trk=edittest_inrow_edit

of the chairs are yellow.

1
The number of biue chairs iai of the total number of blue and grey chairs.

There are 150 more yellow chairs than blue chairs. How many l;:hEir?arﬂ
there in the school hall altogether?

Primary 5 Maths » Primary 5 Maths (Term 4)

Al Kool Frully Stall, there was an equal number of geavas, walermelons and
pingapples at firsk 54 guavas and 26 watermelons wees sold. None of the
pineapples was sold. The number of pineapplas which was unsold was 4 fimes of
the number of gusves left unsold, YWhat fraction of the total number of fruits af first
were sold? Ghe your answer in the simplest form.

2 pts
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54 -3 =18
4x3=12

18 x12 =216
534 X 26 =80

80 10

—_—

216 27

i
Ans: —
St 37

Incorrectly answered feedback

54+~ 3 =18
4x3=12
18 x12 =216

54 X 26 =80
80 _ 10

e |

216 27

10
Ans: —
S22

Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Question 36

1
Oretta cycled E'E hrmmThwsday.EhE{:ydam%kmmsamday.

What was the iotal distance Orefta cyclad in the two days?
Leave your answer correct to 2 decimai places. o

Accepted answers:
v’ 4.03km
v 4.03Km

v 403

Question Type: Free Text
Date Added: Wed 28th Jul 2021
Last Modified: N/A
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QID#: 28,543,544

Correctly answered feedback
1 9 1
2 o lﬁ =4 -
=4.025
= 4.03

Incorrectly answered feedback
1 9 1
2 = * lﬁ =4 =
= 4.025
= 4.03

Question 37 Primary 5 Maths » Primary 5 Maths (Term 4)

Two rectanguiar tanks. are shown below.

Tank X measuring 96 cm by 20 cm by 48 cm was emply. Tank Y was E—Fil!ﬂd
with water. Some water in Tank ¥ was poured Mo Tank X without any spilling

3
and filled up IﬂfTﬂ'ﬂt,leﬂ‘] BO0 ¢ of water ledl in Tank Y.

20 o

#8 am

Tank X

(8} What was the volume of waber in Tank X7

Accepted answers:
v 69120
v’ 69120ml

v’ 69120 ml

Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,545

https://www.classmarker.com/a/tests/test/?test_id=1788718&trk=edittest_inrow_edit

2 pts
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Correctly answered feedback

96x20x48=92160
92160+4=23040
23040x3=69120

Incorrectly answered feedback

96x20x48=92160
92160+4=23040
23040x3=69120

Qu estion 38 Primary 5 Maths » Primary 5 Maths (Term 4)

b) What was the capacity of Tank Y? Leave your answer in litres.

Accepted answers:
v’ 120.864l
v’ 120.864 |

v’ 120.864

Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,547

Correctly answered feedback

69120+31600=100720
100720+5=20144
20144x6=120864
12086ml = 120.864I

Incorrectly answered feedback

69120+31600=100720
100720+5=20144
20144x6=120864
12086ml = 120.864l

Question 39 Primary 5 Maths » Primary 5 Maths (Term 4)

Meng saved $47 000 in a bank. The bank paid 5% interest at the end of each year. He did not withdraw
any money from the bank. How much interest did Meng earn at the end of 1 year?

Accepted answers:
v’ $2,350

v’ 2350

https://www.classmarker.com/a/tests/test/?test_id=1788718&trk=edittest_inrow_edit

2 pts

2 pts

27135
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Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,546

Correctly answered feedback
5/1000 x 47 000 = 2350

Incorrectly answered feedback
5/1000 x 47 000 = 2350

Question 40 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

The figure below shows a rhombus MNQR and a triangle URP.
RM is a straight line.

{a} Find ZNRF.

Accepted answers:

v 22

Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,548

Correctly answered feedback
180-104=76

76+2=38

38-16=22
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Incorrectly answered feedback

180-104=76
76+2=38
38-16=22

Question 41 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

b) Find the sum of URT and RPU

Accepted answers:

v 80

Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,550

Correctly answered feedback

Angle RUP = 360-320=40
Angle URT + Angle RPU = 180-40-38-22=80

Incorrectly answered feedback

Angle RUP = 360-320=40
Angle URT + Angle RPU = 180-40-38-22=80

Question 42 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Whiat Is the area of tiangle ABC?

Accepted answers:

v 1785
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Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,549

Correctly answered feedback

§x1?121=1?&5

Incorrectly answered feedback

§x1?121=1TE5

Question 43 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

In the moming, Tyvia sold scma sardine puffs at & for 310, in the aftermoon, ehe
received 3210 from selling ‘1?_1 of the remaining sardine puffs at 32 sach. In the

1
end, she had 3 of the total number of sardine puffs eft. How much monsy did
Tyvia receive from seliing the sardine puffs in the moming?

Accepted answers:
v $200

v’ 200

Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,551

Correctly answered feedback
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210+ 2 =105

105 +-7 =15
15x5=15

78 x4=300

15x7 =105
300 - 105 - 75 = 120.
120+-6=20
2010 =200

Ans: $200

Incorrectly answered feedback

210+2 =105
105+ 7 = 15
15x5=15

78 x4=300

15 x7 =105

300 -105—75 = 120.
120+6 =20

20x 10 =200

Ans: $200

Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Question 44

Subtract 72 from 1 000 000

Accepted answers:
v’ 999928

v’ 999 928

https://www.classmarker.com/a/tests/test/?test_id=1788718&trk=edittest_inrow_edit 31/35
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Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,552

Question 45

What is the value of 83-4x(9+18+9)?

Accepted answers:

v 39

Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,553

Question 46

Accepted answers:

v 382

Question Type: Free Text

Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,554

Correctly answered feedback
19-6=13

13x39=507

889-507=382

Incorrectly answered feedback
19-6=13

13x39=507

889-507=382

Question 47

Accepted answers:

100

https://www.classmarker.com/a/tests/test/?test_id=1788718&trk=edittest_inrow_edit

In 1.5+ =0.015, what is the missing number?

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 4)

Primary 5 Maths » Primary 5 Maths (Term 4)

The sum of 19 numbers is 889. When 6 numbers are removed, the average of all the remaining
numbers becomes 39. Wha is the sum of the 6 numbers which are removed?

Primary 5 Maths » Primary 5 Maths (Term 4)

1 pt

2 pts

1 pt
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v
Question Type: Free Text
Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,555
Question 48 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
Look at the models befow.

What is the rafio of P o Q 1o the tatal of P and Q7

Accepted answers:

v 2:05:07

Question Type: Free Text

Date Added: Wed 28th Jul 2021

Last Modified: N/A

QID#: 28,543,556
Question 49 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A machine prints 35 brochures in 10 seconds. At this rate, how many brochures does the machine print
in 1 minute?

Accepted answers:
¥’ 210 brochures

v’ 210

Question Type: Free Text

Date Added: Wed 28th Jul 2021

Last Modified: N/A

QID#: 28,543,557
Question 50 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts
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The graph below shows e rumber of pancakes 2old by 8 coffeehousa every day
from Monday fo Friday. Each pancake was sold at $1.80.0
140 T
120 .e"*
=
of
PEMCEREE fO — =
soid e ——— F
Z
40 ey
20
o
Mon Tuz Whed Thu Fri
(8] Wirite down all the days when the coffeshouse sold allesst 70 pancakes
per day.
v A) Mon
B) Tue
C) Wed
v D) Thu
E) Fri
Question Type: Multiple Response
Randomize Answers: No
Grade style: Full points if all answers are correct
Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,558
Question 51 Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts
b) The coffee-house sold 21 more pancakes on Saturday then on Friday. What was the average
amount of money collected from the sale of pancakes on Friday and Saturday?
Accepted answers:
v $234.90
v 2349
Question Type: Free Text
Date Added: Wed 28th Jul 2021
Last Modified: N/A
QID#: 28,543,543
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120+21=141
141+120=261
261+1.8= 469.8
469.8+2=234.9

Incorrectly answered feedback

120+21=141
141+120=261
261+1.8= 469.8
469.8+2=234.9
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